FUBAG

BS 10000 D ES (568206)

H?ylfp KO/ HAaNMeHOBaHHe KO0J1-BO
1 2.63.01.01756 6ont M6x12 8
2 2.50.01.005600 KPBIIIKa FOJOBKH IMIIMHApPA (IIpaBast) 1
3 2.60.09.002000 MPOKJIA/IKa KPBILIKY KilaraHa 2
4 2.50.09.001400 (duKcaTop KJianaHa 4
5 2.50.10.000200 MPOKJIaJIKa BITyCKHOTO KJIaraHa 2
6 2.50.09.000600 MpY’KUHA KJ1araHa 4
7 2.50.01.005700 KPBIIIKA TOJIOBKU LIWJIMHpA (JIeBast) 1
8 2.50.09.000400 IIpy’KUHA KJ1alaHa 4
9 2.51.07.001100 MpoOKa MacI03aTUBHON TOPIOBUHBI 1
10 2.50.04.001200 BBIITYCKHOM KJIaraH 2
11 2.50.03.001700 BITYCKHOM KJIanaH 2
12 2.53.06.001800 cBeya 3axxuranust F7TC 2
13 2.50.02.003800 KPIOK 2
14 2.50.02.003900 roJIOBKA LIMJIMHJpa (TpaBast) 1
15 2.60.08.005700 MPOKJIAa/IKa TOJIOBKU HUINHAPA 2
16 2.63.01.00405 mtudt O12%20 4
17 2.50.07.001400 mIaTyH 4
18 2.50.05.001400 KOPOMBICIIO KJlamaHa B cOope 4




19 2.50.06.000200 OCHOBaHHE KOPOMBICIIA 2
20 2.63.01.02033 6ont GB/T 5789-1986 M10*80 8
21 2.63.01.02494 6ot GB/T 5789-1986-M6*12 2
22 2.50.01.005800 KOXYX (JIEBBIi) 1
23 2.50.02.004000 roJIOBKA IMJIMHJIpA (JIeBast) 1
24 2.63.01.02024 6oat 37-M6*25 1
25 2.50.01.006700 KOXYX (TIpaBblii) 1
26 2.50.09.000700 IIpy’KUHA KJ1araHa 2
14
H(l);}‘lfp KO/ HanMMeHOBaHHe KO0J1-BO
1 2.63.01.01530 601t M8x50 4
2 2.50.16.002500 KOJUIEKTOP BITyCKHOM 1
3 2.60.02.002300 IIPOKJIAJKA BIyCKHOT'O KOJJIEKTOPA 2
4 2.60.04.002600 npokJaaKa kaporoparopa 3
5 2.50.13.003200 TpyOKa camyHa 1
6 2.55.02.002700 ajganTep kapOroparopa 1
7 2.54.03.003700 JIpoccernb 85Smm 1
8 2.62.01.011400 phIuar Apoccesst 1
9 2.55.01.022300 KapOroparop 1
10 2.62.01.010800 3aKUM NPYKUHHBIA @18 2
11 2.50.11.014100 KOPITyC BO3AYyLIHOTO (pumbTpa 1




12 2.63.01.03011 601t M6x90 4
13 2.63.01.02026 6ont M6x30 4
14 2.50.16.002300 BaJIMK BO3AYILIHOTO (pUITBTpa 1
15 2.50.11.014101 KapTpUJK BO3AYIIHOTO GUIBTpa 1
H(l)ylfp KO/ HaNMEeHOBaHMe KOJI-BO
1 2.51.02.001400 HIECTEPHS CTA0MIN3aIIi 000POTOB 1
2 2.63.01.02036 6ont M6x16 2
3 2.55.01.019400 HAacOC MacJsIHBIN 1
4 2.63.01.02041 magiagifg 5947,,;;2202 1
5 2.60.01.003600 MPOKJIaJIKa KPBIIIKUA KapTepa 1
6 2.63.01.02030 6ot M8*16 3
7 2.55.01.019600 9KpaH calryHa 1
8 2.51.05.003600 KpBIILIKA KapTepa 1
9 2.63.01.00391 6ot M8x50 9
10 2.51.06.003100 1y n 1
11 2.09.01.005800 O-xonbuo @13.2*2.65 1
12 2.51.17.004300 canmpHUK GB/T 9877.1-1988-38*58*8 1
13 2.63.01.01047 mrudt 10*12 2




HOMep

w/n KO/ HaNMeHOBaHMe K0JI-BO
1 2.51.16.005200 pacrmpeaBan 1
2 2.63.01.02039 maifba O17.5xP26x1 1
3 2.51.15.025000 KoJsieHBaJI 35.5mm 1
4 2.51.12.003600 maTyH 2
5 2.51.10.000100 KOJIBIIO CTOTIOPHOE 4
6 2.51.09.001300 najer MopLUIHEBOU 2
7 2.51.08.002200 MOPILIEHb 2
8 2.51.11.003200 Ha0Op MOPIIHEBBIX KOJIEIl 2




4
-
HOMep
KO/l HAUMEHOBaHHe KO0J1-BO
n/n

1 2.63.01.02023 raitka M20x1.5 1
2 2.53.02.006300 KaTyIIKa 3a)KUraHus (JieBas) 1
3 2.62.02.008500 IJJACTUHA JIONACTH 1
4 2.52.04.001900 KpbUThYATKA OXJIAXKICHHS 1
5 2.53.01.007400 MaxOBHUK 1
6 2.63.01.01934 6ont M6x30 4
7 2.53.02.006400 KaTylIlKa 3aKUraHus (mpasasi) 1




HOMep

w/n KO/ HaNMEeHOBaHMe K0JI-BO
1 2.51.01.005900 Kaprtep 1
2 2.63.01.02038 ma%; 31_32/3 5?;'21;3002' 2
3 7 63.01.02025 oont anBHopll\/ICiljill";6674.2—2004— ’
4 2.63.01.02030 oont M8x16 2
5 2.63.02.015200 noamuHuK 6003 1
6 2.50.05.001100 KOPOMBICIIO 1
7 2.63.01.00567 mrudt O8x10 1
8 2.63.01.02028 6ot M6x16 1
9 2.51.04.003300 JATYUK Macia 1
10 2.63.01.02030 oont M8x16 2
11 2.63.01.02306 oont M6x25 8

15

H(l);}‘lfp KO/ HanMeHOBaHHe KOJI-BO
1 2.50.01.006100 KOXYX TOJIOBKH LMJIHHJIpA (TIPaBbIii) 1
2 2.63.01.02494 6ot M6x12 4
3 2.62.01.012900 XOMYT 1
4 2.55.01.019300 paauarop 1




5 2.63.01.02306 oont M6x25 2
6 2.55.01.019500 (GWIBTP MaCISHBIN 1
7 2.55.06.018800 TpyOKa @9*p17*400mm 3
8 2.63.01.02026 6ont M6x%30 3
KPOHUITEHH MacCIsIHOTO pajnaTopa
9 2.09.01.005700 011.2%2.65 2
10 2.55.07.004000 3aKUM NPYKUHHBIN @14 2
32)KUM TOILJIMBHOTO IIUTAHTA
11 2.55.06.018900 9% 17%450mm 2
12 2.62.01.012600 ¢bukcaTop nmposoja 1
13 2.62.02.008400 MPY’KUHA MACIIIHOT'O Hacoca 1
14 2.06.04.035400 LIApHUK CTaIbHOH 9.5 1
15 2.55.07.004500 00pyu O12-020 2
16 2.63.01.00498 npokiaaka amoMuHaueBas 10%17%1 1
HOMeEp
o/ KOJ HaNMEHOBaHHe K0JI-BO
1 2.51.03.001000 BaJl LIECTEPHU 1
2 2.63.01.01567 HITUTMHT 2

2.51.17.002400

caJIbHUK 8*14*5




4 2.63.02.015700 noamunmauk HK0808 2
5 2.63.01.02037 maﬁf gg}f’ ;lez.ll/gzsooz 3
6 2.54.02.004300 npyxuHa perymstopa 116mm/50HZ 1
7 2.54.02.004400 IIpYy’KHHA peryisTopa 1
8 2.54.02.005300 JpoccellbHas MpyKUHA BO3BpaTa 1
9 2.54.01.008900 MIPUBOJ BO3AYIIHOM 3aCITIOHKU 1
10 2.54.03.002900 TATa 1
11 2.54.04.003100 phIyar 1
12 2.62.01.011200 py>XUHa 1
13 2.63.01.02494 6ont M6x12 3
H(r)ll>lnep KO/ HAUMeHOBaHHe KO0J1-BO
1 2.63.01.02044 mnuibka M6x102 4
2 2.63.01.02494 6ot M6x12 3
3 2.52.06.002600 KOXYX (TIpaBblii) 1
4 2.51.17.004300 canbHUK P38XP58%Y 1
5 2.63.01.02028 6ont M6x16 2




6 2.63.01.02026 601TM6%30 1
7 2.53.07.001200 10000070501 (1)1 1
8 2.63.01.02026 601t M6x30 1
9 2.50.10.002100 KpBIIIKa caryHa 1
10 2.50.10.002401 MJIaCTUHA callyHa 1
11 2.60.10.002800 MPOKJIA/IKA KPBIIIKHU cayHa 2
12 2.50.10.002200 9KpaH camyHa lmm 1
H‘:;Xfp KO/ HanMMeHOBaHHe KOJI-BO
1 2.55.07.003600 3aKUM MPYKUHHBINA (9.8 1
2 2.55.06.017700 o 5H;$§H5F*T1%115T§5H*B$*1 5 2
3 2.55.06.017800 (P4_5IE$ZTISF*T23%TI;5H*B($*25 1
4 2.55.01.005800 GUIBTP TOTUTUBHBIN 1
5 2.55.06.017900 [IUTAHT TOTUTUBHBINA (04.5*8.5%240+40 1
6 2.63.01.02026 601t M6x30 2
7 2.53.03.005100 KaTyIlIKa 3apsiKu 1
8 2.63.01.02032 6ont M8x110 2




9 2.63.01.00329 mradt O8x12 2
10 2.52.02.001700 ANEKTPOCTAPTED 1
1 7.51.04.002500 COEIMHUTEIILHOE YCTPOHUCTBO 1

BBITIPSIMHATEIIS
12 2.63.01.02016 raiitka M5 1

13 2.63.01.02494 oonr M6%x12 4
14 2.50.01.006000 KOXKyX TOJIOBKH IFJIMHJIpA (JIEBBIN) 1
15 2.55.07.003800 3aKUM MPYKUHHBINA (8 2
16 2.55.07.003600 3aKUM MPYKUHHBINA (9.8 5

u
i |
~a
HOMep
KOJ HANMEHOBAHUE KO0JI-BO
n/n

1 2.63.01.00291 raiika M6 6

) 7.52.01.102800 KPBIIIKA-TePICKTOP OXJIAXKICHUS 1

nBUTATENS (TIpaBasi)

3 2.63.01.02494 0oatT M6%12 3

4 2.52.06.002500 KOXYX (JIEBBI) 1

5 2.63.01.02026 0oatr M6%30 2

6 2.63.01.02035 BUHT 4.2%x20 2




7 2.52.01.096700 3acJIOHKa 1

2 7.62.01.010900 TOJIOBKA pa3OpbI3TUBAIOIIAs PE3NHOBAS )
R (paBas) 18x@10

9 2.55.01.018900 KPOHIITEIH TOIJTMBHOT'O HAacoca 1
10 2.55.01.015600 HAcOC TOTUTUBHBIN 1
11 2.63.01.02494 6ot M6x12 2

1 2
HOMep

w/n KO/ HAUMEHOBaHHe KOJI-BO
1 2.63.01.00570 6ont -M6*12 8
2 2.56.07.011600 KpBILLIKa 1
3 2.56.03.006101 LIETKU YTOJIbHBIE 1
4 2.62.01.002300 KOJIOJIKa KOHTaKTHAas 1
5 2.62.02.009000 HITaHT U 4

6ont craropa GB/T 5782-1986-
6 2.63.01.03043 M10%190%] 25 4
6ot poropa GB/T 5782-2000-
7 2.63.01.00125 M10%275%] 25 1
8 2.63.01.00444-1 maiida -GB/T 97.1-2002-10*30*4 3
9 2.63.01.01762 raiika GB/T 6177.2-2000-M10%*1.25 6
10 2.56.05.001600 cynmopT anbTepHaropa ¢270 1
11 2.56.03.025400 CTaToOp U POTOP 1
6ont GB/T 16674.2-2004-

12 2.63.01.02767 M10%35%1.25 4

13 2.56.05.001700 KpBIILIKA [IEpEIHAS aJbTepHAaTOpa 1




14 2.63.01.01762 raiika /GB/T 6177.2-2000-M10*1.25 4
15 2.63.01.00287 raiika GB/T 6170-2000-M8 4
3
H‘:;}‘pr KO/ HAaUMeHOBaHHe K0JI-BO
1 2.63.01.01705 maitda GB/T 93-1987-¢8 4
2 2.63.01.00287 raiika GB/T 6170-2000-M8 4
3 2.60.03.001900 MPOKJIAAKA TIIyIIUTEIS 2
4 2.50.12.024400 [Ty UIUTENb 1




HOMep

o/ KO/ HAUMeHOBaHHe KO0J1-BO
1 2.55.07.001000 3aKMM TOIJIMBHOI'O IUTAHTA 2
2 2.62.01.013300 nutadr roppupoBanubiil G10*800 1
3 2.55.06.019000 nwtadr 4.5*e8*900 1
4 2.55.08.000700 KHOITKA BKJI/BBIKII 1
5 2.63.01.01812 MPOKJIAJKa TOTUTUBHOTO Oaka 6*25%2 4
6 2.63.01.00914 6ont GB/T 16674.1-2004-M6*25 4
7 2.55.05.091200 TOTUTUBHBIN Oak 1
8 2.55.05.024801 KPBIIIKA TOTUTMBHOTO 0aka 1
9 2.55.05.026001 ¢unbTp 1




HOMep

w/n KO/l HAUMeHOBaHHe KOJI-BO
1 2.57.04.039700 IJIACTHHA U30JUPYIOIast 1
2 2.63.01.01756 6ont GB/T16674.1-2004-M6*12 4
3 2.57.04.029200 KOJIbIIO 2
4 2.63.01.01756 6ont GB/T16674.1-2004-M6*12 4
5 2.63.01.01795 raiika GB/T 6177.1-2000-M8 2
6 2.57.04.039900 HaIpasJsoas 1
7 2.57.04.040100 HIapHUD 2
8 2.63.01.00291 raiika GB/T 6177.1-2000-M6 8
9 2.57.04.039800 KPBIILIKA BEPXHSIS 1
10 2.63.01.03032 BuHT GB/T 818-2000-M4*10 2
11 2.57.04.034300 pyuka 1
12 2.60.10.003400 npoknaaka 500*180 2
13 2.60.10.003500 npokiaaka 350*70 1




HOMep

w/n KO/ HANMEeHOBaHHe KOJI-BO
1 2.57.01.056000 pama 1
2 2.57.04.039600 NaHesb 3aHss 1
3 2.63.01.00570 6ont GB/T16674.1-2004-M6*12 8
4 2.57.04.039500 MaHelb NepeaHss 1
5 2.63.01.02766 raiika-0apamexk GB/T 62.1-2004- M6 2
6 2.57.04.040200 IiacThHa Oarapee 1
7 2.63.01.03021 OOJIT TIIACTHHBI OaTapen 2
8 2.10.06.002400 32)KHM 1
9 7.56.10.008700 kabenb (-) alclﬁl)l(\)flr}lf;z/Tl()(l))Hon Oarapen 1
10 2.56.09.000500 AKKyMYJIATOD 1
11 2.56.10.008800 Kader (1) aKggg“nylETl%pH"“ Oarapen 1
12 2.57.04.039000 IUIACTUHA NEPETHSSA 1
13 2.63.01.01756 oont GB/T 16674.1-2004-M6*12 4




HOMep

o/ KO/l HAUMEHOBaHHe KOJI-BO
1 2.63.01.01808 6ont GB/T16674.1-2004-M8*16 42
) 7.61.03.000100 KOJIECO YHHUBEPCAIBHOE C TOPMO30M ’
100*32
3 2.61.03.000200 KoJeco Hanpasistoniee 100*32 2
4 2.61.05.003600 TJIOIIAIKA KPETUICHUS KoJieca 4
5 2.63.01.00287 raiika GB/T 6170-2000-M8 16
6 2.57.04.040000 pamMa HUKHSA 1
7 7 63.01.00767 6ont GB/T 16674.2-2004- )

M10*35*1.25




i I,I -i = 5 © 1
| - % 4 T
; T W
4]

H(:yrfp KO/l HAUMEHOBaHHe KO0JI-BO
1 2.56.01.157900 naHesb B coope 1
2 2.56.01.158001 KpBILLIKA [IepeIHeN MaHeIu 1
3 2.56.01.158002 kiIeMMHHUK AC 4
4 2.63.01.00163-2 6ont GB/T 16674.1-2004-M5*16 2
5 2.56.04.000800 ABP 230V 1
6 2.63.01.00570 6ont GB/T16674.1-2004-M6*12 12
7 2.63.01.00302 BuHT GB/T 818-2000-M4*12 6
8 2.56.01.157901 BEIKITIOUaTens 3P/14A 1
9 2.56.01.158003 00T U raiika 3a3eMJICHU 1
10 2.56.01.072701 kieMMHHUK DC 1
11 2.63.01.00302 BuHT GB/T 818-2000-M4*12 6
12 2.63.01.00267 raiika GB/T 6170-2000-M4 6
13 2.56.01.042304 BUJIKA 3
14 2.56.02.001500 HITeKep 1
15 2.56.01.158004 npeaoxpaHuTens 16A 3
16 2.62.02.000500 Ipoccenb Kabemst 1
17 2.56.01.158005 mucmiaein GDP-1 1
18 2.56.01.011901 3aMOK 3aKUTaHUs (0€3 KITI0Uei) 1
19 2.56.01.158008 naHelb 1
20 2.56.01.158006 KpBILIKa 1
21 2.56.01.158102 po3etka 16A 1




22

2.62.01.009800

TpyOKa mactukoBas (p24*170

23

2.56.02.000400

BrIKa 32A

24

2.56.02.000600

BHUJIKA




